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2y 0.68% (+3.0bp)
10y 1.52% (+6.8bp)
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A4 © 1.02% (+0.9bp)

d2|A  8.02% (+4.1bp)
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DOWS30 18404.51 (-0.15%)
NASDAQ 5184.20 (+0.43%)
S&P500 2170.84 (-0.13%)

NIKKEI225  16635.77 (+0.40%)

SHANGHAI 295339 (-0.87%)

FTSE100 6693.95 (-0.45%)
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DAX30 10330.52 (-0.07%)
CAC40 4409.17 (-0.69%)
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ATl 2029.61 (+0.67%)
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3y 1212%  (-0.4bp)
Sy 1.223% (-1.2bp)
10y  1363% (-2.3bp)

CD  1360% (Obp)
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3y -27bp  (-0.6bp)
Sy -41bp  (-0.3bp)

10y -143bp  (+0.1bp)
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1Y 1.2375% (-0.25bp)
2Y 1.1900% (-0.50bp)
3Y 1.1850% (-1.00bp)
5Y 1.1825% (-1.50bp)
7Y  1.1850% (-2.00bp)

10Y 1.2200%  (-2.25bp)

12Y  -475 (-0.25bp)
2#3Y  -0.50  (-0.50bp)
2*5Y  -0.75  (-1.00bp)
3*5y  -025 (-0.50bp)

5*7Y 0.25 (-0.50bp)
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5*10Y 375 (-0.75bp)
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